1.

th ZHOIAAD 7} A ©] €124€] o] 524 w], AB & F-5toizh

AB=x cm& 3l x:4=(2+8):8°]E=2
xX=5




=1
k=

g7

= A7

o| B!
Al
o ™
o ofn

A

or ol

RCR
B
~

<o
WP
op o

TR

:CD

.

BD : CD ©|t}.

: FA

BA

AD //FC oA AB: AC

/ACF = /AFC ©9]B2 AACF
BDA oA

A

oo




3.

oF& 1A AAZIABCD ©f ti2H4 BD o] 44052 Al
BC 919 A& 27 E, F o & o, EF | 2ol T8hw?

A E D
/ .-
/ Pid
3em| 5
cm
n | 5em 5
\ /
N
B>~ yem-F7C
10 13
@ Ecm @ 4cm ® Zcm
1
@ Z5cm ® gcm

B

AABD 2} AOED ©f| A
/ADB = /ODE, /A = /EOD = 90° o|2.&
AABD ©OAOED(AA T2

ot

AB:AD=OE:OD |22 3:4=0E: -

[\G)

@zg(cm)

AOFB = AOED 0|22

ﬁ:Q@:%XQ:%S(cm)




4. & OHNA AB=6,CD =9, DE =12 & of}, x 9] 3&?

® 2 @ 4 @6  @s ® 10

/BAC + /BCA = 90°, /BCA + /ECD = 90°
/ECD + /CED = 90° °|2&

/BCA = /CED, /tBAC = /DCE

. AABC ACDE (AA E2)
AB:CD=6:9=2:30|BE& x:12=2:3
T x=28




o}

oo

4714171 ABC o4 A M & BC o] 4ot I o] Zol=?

A
I
H M
B ~~-8cm---"" ¢
12 13 14
@ Ecm @ 1—53<3m ® - om
@ 5o ® 5 om
AABC ©f|A]

AM = BM = CM = 5(cm) , HM = 3(cm)
AH2 =BH-CH = 16

AH =

AAHM:%XAHXH_Z%XA_X_I
4x3=5xHI
_ 12
I=—(cm)




oFe T el /A = 90° 9 AZM4ZHE ABC O] B
BCo| el 4-419] ¥g Hebn @ AB = 4, BH —
)

=
2 o, x

® 10

o

AB’ = BHxBC
42 =2x(2+x)
T x=06




~-8cm-~E~6cm-

® EF @ DF ©h

@ DE, EF ® DF, EF

ﬁ:m:ﬁ:E_CE}@,A_C//ﬁO]E}.
6:45=8:6 °]2& AC //DE o|t}.




th2 J19ol|lA BC//DE 91 A& 25 Ztet

v V. v Vv
0
LI (L i
@

0
i
@

~&B

BC//DE o|B2 ZAY A £ 7|F2 2 T-$3}
Zotof gt

@:6:10=3:57t A¥st2& BC //DE °|t}.
@:5:4=10:80°] 4¥sl22 BC//DE °|t}.

rr

#e] o]zt




